[image: image1.png]15. A ball of mass 0.5 kg, initially at rest, acquires a speed of 4 m/s immediately after
being kicked by a force of strength 20 N. For how long did this force act on the

ball? (1pt)
a. 0.01s
b. 0.02s
c. 0.1s

9 02s

e. Is



[image: image2.png]16. A wooden block of mass M is moving at speed V in a straight line. How fast
would the bullet of mass m need to travel to stop the block (assuming that the
bullet became embedded inside)? (1pt)

a. mV/(m+M)

b. MV/(m+M)
@ mV/M

d. MV/m

e. (m+*tM)V/m



[image: image3.png]17. In this equation that describes an interaction of two-masses: x = h*
(m1+m2)/(2*¥*m1), what happens to ‘x” when m1>>m2

a. 0
infinity

. h

d. b2

e. m2*h/2



Please ignore the circled answers. They are wrong answers.
